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Section A: Reading Comprehension

In this section, there are three passages, each with 5 questions. Read each
passage carefully. Then choose the best choice (a, b, ¢ or d) to answer the
questions under the passage. Choose your answer only based on the
information in the passage.

Passage 1

White educated American women lose their infants at rates similar to
mothers in America’s peer countries. However, most of the burden of the higher
infant mortality rate in America is borne by poorer, less-educated families,
particularly those headed by unmarried or black women. One study suggests
that poverty and lack of education are to be blamed as black women consistently
experience such problems. Another study, on the other hand, found that even
black women with advanced degrees -- doctors, lawyers, MBAs, etc. -- were
more likely to lose infants than white women who had not graduated from high
school. Now, a growing body of evidence points to racial discrimination, rather
than race itself, as the dominant factor in explaining why so many black babies
are dying. The research suggests that what happens outside a woman’s body --
not just during the nine months of pregnancy -- can profoundly affect the biology
within. One study found that black women living in poorer neighborhoods were
more likely to have low-birth-weight infants regardless of their own
socioeconomic status. More segregated cities have greater black/white infant-
mortality disparities; women whose babies are born severely underweight are
more likely to report experiences of discrimination. This may help to explain how
black mothers who say they do everything right during their pregnancy could
come to bury their infants.

131. The text compares the U.S. with its peer countries to highlight their similar
ratein ......ccceeeeneee .

a. education b. infant loss

c. racial equality d. women’s social position

132. Well educated black women are ........................ in infant mortality rate,
compared to white women with high school education

a. in much better position b. in a similar condition

c. at a disadvantage d. socially more privileged
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133. The writer uses the phrase “what happens outside a woman’s body” to

referto the.................... the pregnant women.
a. social condition of b. family history of
c. level of education of d. racially inherited features of

134. According to the last study in the passage, the higher rate of “low-birth-
weight infants” of black mothers could be attributed to their ....................... .
a. level of education b. socioeconomic status

c. race-related variables d. poor neighborhood

135. What is the main idea of this passage?

a. The problem of high infant mortality among black mothers can be explained
mainly by social factors.

b. Black women can experience better pregnancy outcomes provided that they
are not denied of educational opportunities.

c. The rate of infant death in less-educated poor families is more than that in
socially segregated families.

d. The infant mortality disparity in different pregnant women can affect their
socioeconomic status.
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Passage 2

The benefits of music for academic learning are well documented, thanks to
research following young people’s progress as they learn an instrument.
Evidence that learning music leads to actual physical changes in one’s brain
development is on the rise. Significantly, learning and playing music alter the
amount of activity in certain regions of the brain, as well as the structure of
specific areas. One study at the University of Munster in Germany monitored
the brain activity of two groups of people between 20 and 30 years of age. One
group consisted of 20 musicians who had played music for at least 15 years. The
other group consisted of 13 non-musicians. Each participant listened to a
recording of piano music as the researchers watched their brain responses.
While listening to the recording, the musicians showed 25% more activity in the
area of the brain that processes auditory signals. Although the music was from
a piano, the response level was higher for all musicians, whether they played the
piano, violin, or another instrument. A separate study at McMaster University in
Canada followed the progress of 12 children for a year. Six of the children were
taught music using the Suzuki method, a popular teaching method from Japan.
The other six did not learn an instrument. Over the course of the study, the
researchers took regular measurements of certain brain regions. They found
that the music learners had increased activity in the region of the brain
responsible for focusing attention and making sense of different sounds.

136. The investigations on young people revealed the ..................... of music for
academic learning.

a. positive impact b. trivial role

c. neutral role d. diminishing impact

137. It is indicated in the passage that learning and playing music change the
........................ of specific brain areas.

a. the size and shape b. learning capacity

c. auditory volume d. capacity and life span

138. The study at the University of Munster was intended to investigate

b. the Suzuki method of teaching music
c. children’s willingness for leaning music
d. effect of brain feedback on teaching music

139. The writer of the passage remains ................... the effect of music on brain
activity and learning progress.
a. unaware of b. skeptical about

c. in favor of d. clearly against
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140. The passage .......cccceeeeeerens the claims made.
a. provides evidence to substantiate

b. uses pure speculations to support

c. fails to present sufficient proofs for

d. lags behind new findings regarding
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Passage 3

Team membership is ever changing in hospitals because hospital
professionals work in shifts and rotations. Team members are seldom in the
same place at the same time because physicians often care for patients on
multiple units and floors, while nurses and other team members are often unit-
based. As a result, nurses and physicians do not communicate consistently, and
often disagree on the daily plan of care for their patients.

The traditionally steep hierarchy within medicine, denoting physicians’
superiority, may serve as a barrier to teamwork. Although physicians generally
give high ratings to the quality of their collaboration with nurses, nurses
consistently rate the quality of collaboration with physicians as poor. The
implementation of electronic health records and computerized provider order
entry systems fundamentally changes workflow and may result in less
teamwork. Similarly, the expanded use of text messages delivered via paging or
mobile phone results in a transition toward asynchronous modes of
communication. These asynchronous modes allow healthcare professionals to
review and respond to messages at their own convenience.

141. The writer believes that .............cccccceeeueeee. serve(s) as a major barrier to the
development of team-work.

a. variations in working time and work place

b. nurses’ regular communication with physicians

c. regular attendance of nurses in rotations

d. unit-based practice of physicians and nurses

142. As members of hospital professionals, physicians .................. the existing
collaboration with nurses

a. are indifferent towards b. positively evaluate

c. oppose taking partin d. openly challenge

143. The traditionally steep hierarchy in medicine has ...........cccccceeeune .
a. equally ranked all the professionals

b. conferred a higher rank to physicians

c. denied the nurses’ role

d. been in favor of nurses

144. According to the passage, electronic health records ........................ .
a. make fundamental changes in the traditional hierarchy of medicine

b. improve the communication between nurses and physicians

c. make drastic changes in the technology used by physicians

d. reduce the formation of teamwork in health care system
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145. Asynchronous modes of communication ......................... reviewing and
answering messages.

a. requires online connection in

b. has lost its importance in

c. suits for sending verbal messages

d. gives more freedom in
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Section B: Vocabulary Items

Read sentences 146 to 160 carefully. Then choose the best choice (a, b, c or d)
to complete the blank space in each question.

146. In many countries, hundreds of people are being treated for smoke
ceeeeneeeennnneeene. Which causes serious health problems.
a. inhalation b. suppression

c. expiration d. detection

147. The World Health Organization’s smallpox ....................... program was
successful and the disease is no longer a problem today.

a. eradication b. acceleration

c. utilization d. perpetuation

148. Children should avoid knives and glass as sharp injuries from these objects
resultin ................ and punctures.

a. lateralization b. laceration

c. taxation d. lamination

149. Counseling patients about the importance of good hand hygiene is the

best way to prevent .................. of the viruses.
a. destruction b. transmission
c. distinction d. elimination

150. The child was referred to the emergency department because he was

<eeneeeeeeee. aNd could not breathe properly.

a. strangling b. emitting c. choking d. exhaling
151. The patients’ health records should remain ................ and not disclosed to
anybody except the caregiving team.

a. provisional b. reciprocal

c. confidential d. longitudinal
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152. There was no clear organization in the objectives of the meeting; that is

why the participants’ attention was distracted towards ................. issues.

a. trivial b. salient

c. grave d. earnest

153. Radiotherapy was successful because, soon after irradiation, the tumor
growth was inhibited, and the tumor size ................. dramatically.

a. soared b. shrank c. initiated d. developed

154. The scientists managed to convince his audience by presenting a
<eeeeeeene. OF @Vidence in support of his claims.

a. sparseness b. plethora

c. dearth d. scarcity

155. The nurse had easy access to the equipment room because it was
.................. the dressing room where she worked.

a. adjacent to b. replete with

c. abstained from d. abundantin

156. It was apparent from the clinical ................... that the patients’ immune
system was attenuated by the pathogens.

a. assassinations b. manifestations

c. accelerations d. preoccupations

157. The mentally ill patient was hospitalized soon after he began to behave

inavery ...t and frightening manner.
a. bizarre b. mature
c. diligent d. rational
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158. An essential requirement for the wider application of e-learning is the
«eeeeeeeees OF @ efficient infrastructure.

a. prohibition b. provision

C. omission d. abolition

159. Unlike the past slow manual workflow, the Electronic Health Records are

now used to ................ the patients’ medical information at high speed with
sufficient precision.

a. interrogate b. anticipate

C. aggregate d. invalidate

160. Biotechnology advances have come to help cancer patients, and ...............
cancer cell proliferation is not a dream now.

a. emancipating b. augmenting

¢. hampering d. predisposing

Sl d (5239455 313 yeo Sl a5 b Cedlage @159 (51 958
www.FastZaban.com
&3y *AYE o FYYYY  tapled axslye
https://fastzaban.com/grammar-reading-offline-course

Sols gl

158.2 160.3
159.3

10



https://fastzaban.com/grammar-reading-offline-course

11

(51221 39 5553 9 9yl b3 Wy (205 G985 9 (2 ) (SNi94a55 5 919 o Sl b g01— il 09,5

Loy o 055 028 (Seig Sl 65k 503,08 308 sl ()95 it S D AL N0A
Ll Lol 8

(165 4=i) [banning, forbidding, proscription sl s ais «usgias @

(ra0 4as) [supplying, providing sl ze] (gjlweslel ¢p3,S alyb umb s b

(19 a=iw slewl) [deletion, cut, exclusion sl ] Gis .C

(15F i slesl) (5310lys ¢ gl Ao W1 D

Coslaen Gy 98T Ceodls Sig Sl claokiny rddS WS s IS 33,5 B, € 435 N8R
€355 oo )55 ool 3y90 (SIS B L g YU ety b o (S50 oMb

(FA+ dxin 3T cid) [question, probe sl o] (3,5 se35b (0,5 (il a

(19 oo 5T et [expect, predict; look forward to bslyie] aniS |, ..yl ¢ 0,8 o i D
(F+ dxin) [amount sl o] (3,8 (y9laen p ai @b C

(15¥ 4o Jsl cat) [VOid, negate, nullify Gslyie] 55,8 Jbb 3,8 jlael o opdlul 566 3,0 5.d
sl ol 1S5 ials Slowel by hhlews S 4 (6595150 [6555 ] (sl iy € AL S NS
Qg by S 500 ol s o Sl yuw

(175 axiv) [liberate, release slyo] s ol (ha 1B 5l el (0,8 o151 a

(V¥ amiw ,5T ) [increase, enhance, escalate sl ] oyl /ool ilssl pais ol b
(10F &xiw 15T cd) [block, hinder, thwart sl o] (3,8 Jises i glo .C

(¥ A &=iv) [incline, make susceptible, influence slyo] 3,5 (61, Ky (035 daitue d

9 (70 Tl b ceblage ©)l59 slay9Sas ¥ Igu <8l yo ol

www.FastZaban.com culwog 4 g0 Julos

O Lo ax> w0 t.me/FastZaban L ol 5L JUS b



https://t.me/FastZaban

(Ol 50 688 g oyl by Wi o T (99 38 19 9 oy 35 39) (S N9 5 31 o0 Sl sw),ci—‘sa.fb 09,5

PITRE www.FastZaban.com

@ 2ol ySjlg

‘E?/Sf
o) slaygo;)l

Vocab
ML Jlagy cepSaly yiigy 4 cailro

Jolids

SUB90)l915 55 9.2l SLby9-SS Ao i) PP ks W
Jsbiguuitd

)b 803,71 alod PPl Gl W

31yt solS VA« 3l Gl W

g L augig Lo aidyy b0l B

bigel slrode; Glal IPA hali A

1F 5 98 5,555 9 2yl SLD,gSiS S b Cuws g lojisgs A

o
oy
2
J.
a
3
2
K|
Y9
3
2
3
9

B LU RS 555 g 2yl Sl gSuS +

-
S
+ume N
4

JBU S, 9, Olid) &eF SLo S ol Jolds
.9 SAT Sharp Vocab .GRE .1100.uuili S 96 Gla)

m

JANGAL
PUBLICATIONS

I

&

Fast Vocab (MA, PhD) LS pdf L6 G515 sebils gl
ol S 315 Sid 59y 3 (SH9ARSS) 019 e Sbiwsl il

https://zaya.link/FastVocab_pdf

NFee o Cudlage @ yl59 5508 O idy wY¥lgw Julos Q
.59 Bowgie pids el S8l (oIS fow vV

ailwslgi o UWsgla o Fast Vocab (MA, PhD) oUS adlas b v/

.2id> &_wleuiu,.\ ol S8lgw 205 10 5l pis e iy




13

(0312 30§55 9 4yl (33 W32 o9 5 G982 9 2 35 ) (SN 9AuSS 5 810 0 Sl (b g0l — AL 09,5

Section C: Grammar Questions

Read questions 161 to 170 carefully. Then choose the best choice (a, b, c or d)
to complete the blank space in each question.

161. The team of inspectors proposed the area ................. cleaned before the
operation.

a. be b. to be

c. being d. was

162. The unlucky student was an absolute failure in medical school, so he
decided to try law ................... .

a. in addition b. likewise

c. otherwise d. instead

163. Why are you wasting time? You .................. your work already.

a. need to have finished b. should have finished

c. could be finishing d. have to finish

164. No scientist ................ alicense so far to clone human embryos for medical
research even in the laboratory.

a. had granted b. will be granted

c. had been granted d. has been granted

165. The elderly patient is steadily recovering from the Covid-19, and ...............
from hospital by the next week.

a. should be discharged b. is being discharged
c. should discharge d. is discharging
Gols sl
161. 1 164. 4
162. 4 165.1
163.2
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166. Our brain is a complicated organ in the body ................ very little is known
and even less is understood.

a. by that b. in which

c. from what d. about which

167. It is believed that ............... adopts a sedentary lifestyle in their mid-life is
going to experience physical difficulties at old ages.

a. whatsoever b. whichever

c. whoever d. someone

168. ............... a small specimen of the embryonic fluid can be taken, it will be
possible to determine whether the baby will be born with any birth defects.
a.lf b. Yet

c. Despite d. Indeed

169. The nurse wasn’t actually feeling fit enough to work overtime; ...............,
she did all the tasks assigned by the matron.

a. besides b. although
C. moreover d. nonetheless
170. When attending a university class, .......cccccceerrrrrceeneen &

a. cell phones should be silenced

b. students should silence their cell phones
c. students’ cell phones should silenced

d. should cell phones be silenced
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